lin[TEmpfindlichkeit]

logLo = —0,35[.1)\—U570]Z

logM o= —0,35[1)~Us.:]2

logLa=logLo+0,02

logVl2= log M -+0,02
U =(A-550)/50

lin[Séttigung]
logVo = —0,35[1)—Uss7]2
logVa=logVy+0,00

[La/Vo, Ma/Vo]
MaVo La

logLo = —0,35[1~Us7q]2
logMVo= —0,350)~Us.:]?
logLa=logLo+0,02

loglf2=Yog M §+0,02
Séaltigung V
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Adaptation
L&M: 557
= ts=0.0

Lo=-0.02La=-0.0
V0=-00 Va=-0.0
M0=-0.02 Ma=-0.0
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Adaptation
Ll&M: 557
(=0.0
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500
lin[TEmpfindlichkeit]

logVa= logV,+0,00
[Va La

logVo = —0,35[1—Uss7?

MaVola
PN

600Ad¢/nm 700A¢ 400

|OgL0 = —0,35[.])\—1.]570]
logM o= —0,35[1)—Us.:]2
logLa=logLo+0,02
logVl2=log M -+0,02
u,=(A-550)/50

500

lin[Séttigung]
logVo = —0,35[1~Uss7?
logVa=logVy+0,00
[ValVo, Bl Vo, MoV

; MaVo La

600Ag/nm 700xc 400

logLo = -0,35l)~Us7d
logMo= —0,350)~Us.:]2
logLa=logLo+0,02

loglf2=Yog M {+0,02
Saltigung V

1,0

0,51

545!

Adaptation

L&M: 557
= ts=0.0
Lp=-0.02 La=-0.0

V0=-00 Va=-0.0
Mo=-0.02 Ma=-0.0
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Adaptation
Li&M: 557

495Ec  565Ec

500

600Ad¢/nm 700A¢ 400

500

600Ad/nm 700Ac 400




